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2 (a) Fill in the next two terms of this sequence.

14, 13, 11, 8, b | =1
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(a) (i) Whatis the total of all the angles in the three triangles shown?

Answer °[1]

(i) What is the sum of the interior angles of a five-sided polygon?

Answer

(b) What is the sum of the interior angles of a seven-sided polygon?
o PSY

Answer 70 O° [2]
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12 A six-sided dice is rolled 800 times.

The table below shows the relative frequency of scoring a six after different numbers

of rolls.
Number of rolls Relative frequency of a six
100 0.3
200 0.26
300 027 237,
500 0.23
800 0.25

(a) How many times was a six scored after 300 rolls?

Show how you obtained your answer. A
2;*'70 s Q’q‘ o~ AC oo %3
200 =
G\ ek 4 3
Answer 8 | [2]

(b) Which relative frequency from the table gives the best estimate of the probability
of scoring a six when this dice is rolled?

Explain your answer.

Answer O 2S5
Reason (‘/‘Q‘ hena  been mk‘é& (\\Q mf‘ﬁ {\Maﬂ [2]

(¢) How many sixes would you expect to get if a fair six-sided dice was rolled
300 times?
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